P 2L d https://lwww.pass2lead.com/1z0-1045.html
aSS ea 2024 Latest pass2lead 170-1045 PDF and VCE dumps Download
https://Pass2Lead.com

170-1045%%As

Oracle Warehouse Management Cloud 2019 Implementation Essentials

Pass Oracle 1Z0-1045 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass2lead.com/1z0-1045.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-1045 VCE Dumps | 1Z0-1045 Practice Test | 120-1045 Study Guide 1/4


https://www.pass2lead.com/1z0-1045.html
https://www.pass2lead.com/1z0-1045.html
https://www.pass2lead.com/1z0-1045.html

P 2L d https://lwww.pass2lead.com/1z0-1045.html
aSS ea 2024 Latest pass2lead 170-1045 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Identify the type of functions you need to use to handle conditional information in a report.
A. Arithmetic and Geometric Functions

B. WMS BI Cloud does not support that type of functionality

C. String Functions

D. Dynamic Functions

E. Logical Functions

Correct Answer: E

QUESTION 2

When creating an Appointment, which three "Matching value type" selections can be used to create the Appointment?
(Choose three.)

A. License Plane Nbr

B. Load Nbr

C. Dock Door

D. PO Number

E. Advance Shipment Notification
F. Trailer Nbr

Correct Answer: BCD

QUESTION 3

Your client finds it easier to read reports without repeated values. The client shared an example report to demonstrate
the way they want their columns to be displayed.

What action should you take to make your report look like the example report provided by client? Report A: A. Select the
Hide Repeated Values icon.
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Report Title
Customer Order Number Date Ordered
Alfreds Futterkiste 10643 08/25/1007
Alfreds Futterkiste 10692 10/03/1097
Alfreds Futterkiste 10702 i0/13/1997
Alfreds Futterkiste 10835 01/15/1998
Alfreds Futterkiste 10952 03/16/1008
Alfreds Futterkiste 11011 04/09/1998
Antonio Moreno Tagueria 10365 11/27/1006
Antonio Moreno Tagqueria 10507 04/15/1097
Antonio Moreno Tagueria 10535 05/13/19097
Antonio Moreno Tagueria 10573 06/19/1907
Antonio Moreno Tagueria 10677 0o/22/1007
Antonio Moreno Tagqueria 10682 09/25/1097
Report Title
Customer Order Number Date Ordered
Alfreds Futterkiste 10643 08/25/1007
10692 10/03/1997
10702 10/13/1907
10835 01/15/1998
10952 03/16/1998
11011 04/09/1998
Antonio Moreno Taqueria 10365 11/27/1006
10507 04/15/1997
10535 05/13/1997
10573 06/19/1997
10677 09/22/1997
10682 09/25/1997

B. Select the Hid Common Values icon.
C. Select Chart Wizard, and delete repeated values.
D. Select the Suppress Duplicate Values icon.

Correct Answer: C

QUESTION 4

What is the primary purpose of the Wave Template Search Screen?
A. to identify all outbound loads that have not completed picking yet
B. to determine how many picking tasks will be waved for picking

C. to determine which available orders will be waved for picking
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D. to determine the locked locations for inventory allocation
E. to determine from which part of the warehouse the inventory will be allocated
Correct Answer: B

Reference: https://docs.oracle.com/cd/E18727_01/doc.121/e13433/T211976T536591.htm

QUESTION 5

A warehouse manager needs to view additional information not available in the existing Picking
applications.

Identify two ways to fulfill this requirement. (Choose two.)

A. Create a custom WMS BI Cloud showing the information.

B. Access data through SQL.

C. Modify the base application to display additional information.

D. Use a base WMS BI Cloud showing the needed information.

Correct Answer: AC
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